T
(]

TTTT]

INCLUDED IN THIS MANUAL
Description Page
Panels and Posts 2
Door Assembly 3

Door Assembly Figures  4-5

REVISION (DRAFT-4 mod thank you pg) 18AUG21

Haas Automation

Installation Instructions




Haas Automation Panels and Posts

PCAPPLST I

O
Post Cap = | FS51634FB
FSSI634FB . T 5/16" X 3/ n

|
5/16" x 3/4" Attach panels to pOSt Qﬁ EH[ZJE - Flange Bolt
Flange Bolt \

(per Fig.1)

[y

[ T T T 7T

‘ ole 2" SQ Post S Angle Frame

o} Panel

—

FS381
3/8"x 1" -
Hex Bolt

T Ty

2" SQ Post N
/

TTITTTTT]
[LTTTITTTTTT

FS38N | - 2" SQ Post

/W
i

jnnnnnnnnnnnnnnnnnnnnnn
jnnnnnnnnnnnnnnnnnnnnnn

3/8" Hex Nut \ =
—~ . H -
EESE . Ly |
= | T—
SSS8 Ll | — AL
.:EEE ‘ —— N\
:E:Ei <1L
SNSS oo
ESSSSS FS38STA
== 3/8" x 3" Wedge Anchor
e W/ 1 1/2" Min. Embedment 514m
T l
“:::\ L
\\:: —

f
/,

Attach Is t t bef Typical Run
ach panels to post before I .
lagging both posts to floor Post Connection &L=

(Per Fig.2) -Page 2-




Haas Automation

Door Assembly

See Pg. 4 Fig. 5 for
Track Splice
To Post Assembly

il
[I]]

[TTTTTTTTTT

T

1]

See Pg. 4 Fig. 4 for
Track Splice
To Post Assembly

See Pg. 5 Fig.7 For
Door Guide
Assembly

1]

i

HITTIT7TT

TTTTT7T7

See Pg. 5 Fig. 8 For
Door Stop
Assembly

V]

See Pg. 4 Fig. 3 For
Track BracketTo
Post Assembly

See Pg. 5 Fig. 9 For

/ Door Panel Assembly

See Pg. 4 Fig. 6 For
Interlock Assembly

Note: Left sliding door shown.
Assembly may vary by, slide direction,
width and height of door, and track
length combinations.

-Page 3-




Haas Automation Door Assembly Figures

FS38N FS381CB
38"Nut NG~ 3/8"x 1"
SDTCBKT @ AN ‘ Carriage Bolt
Tf&g;f;ﬁ RN FS51634FB
g \.\ 5/16" x 3/4"
~ . Flange Bolt
SRS
I FS516FN N - <>
s Z | - 1 5/16" Flange «
N ‘ Nut
' T° : ® FS5MLN
FS51634FB L @ " Q|0 SMM Lock Nut
5/16" x 3/4" | -
Flange Bolt = |
Fig. 3 ‘ S 5 js
FS5SM16MBHTS 2| Dl
5MM x 16MM @ , ®
Torx Security 1K Qj|0
Screw 7
Q|0
N
FS5M45MBHSCS (|
SMM x 45SMM
SOCKE A SDILPSBMBKT
Interlock Mounting
Bracket
‘ SDILPCHMBKT
Interlock T-Handle
SDTJBKT & B%E(])?ISTSI;R Mounting Bracket
Track Splice %art Ap
Bracket
. FS516FN
Fig. 4 5/16" Flange Nut | \
1 1 1

FS51634FB
5/16" x 3/4"
Flange Bolt

BIPDSTITR

Trolly Stop

Fig. 5
Part B g -Page 4-




Haas Automation Door Assembly Figures

Note:
See plan and elevation
views for "stack" dimensions SDDTT4WH
HASDDG of door panels Door Trolly
Door Guide
FS381
3/8"x 1"
FS51634FB .
5/16" x 3/4" Carrlage Bolt
Flange Bolt FS38N
3/8" Nut 1
-
N FS381
QE 38" x1"
Fio. 7 S8 Carriage Bolt
5 SDDEPCH 8 SSSE & SSESSSS
Splice Channel \E::\$ ? S SSSSSNN S FS38N
SSSSSSSS \$ SSSSSSS 3/8" Nut
FS51534FB SRS \::\g
L
DOOR STOP 3/8" Nut SNSNSNSS g
BUMPER Adjust Door Stop SESSSSRSSNS \::E\ L FS51634FB
As Required \\\::\ i :\::\\ 5/16" x 3/4"
L\ N SSSaS Flange Bolt
HASDKB HASDKA FS381CB
Door Keeper P O(t)rA eeper 3/8"x 1
Part B ar Carriage
For right sliding door: Bolt
Turn this bracket 180° 3/8" x 1"
and assemble fastener Carriage Bolt
thru slot closest to door
I N
5/16" Nut Fig. 9
Fig. 8
Left Sliding Door shown

-Page 5-




WireCrafters 800-626-1816

Thanks for using

WireCraftters
Machine Guarding

For more information on WireCrafters products please visit our website at www.machineguarding.com




